
Vocab Questions Overview
Vocab Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is similar

to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to elaborate

the concept used in Vocab Questions.

Question
A word has been highlighted in each of the following statements. In response to the highlighted word, a pair of words has

been provided in the options below. Find the pair of the words where the first word is the synonym of the highlighted word

and the second word is the antonym of the given word. After the tsunami struck our island territories, the personnel of 33

Squadron flew extensive relief operations, bringing much-needed respite to the local populace.

Difficulty : Moderate Average Time : 45 Seconds

Options :
1. Advance-Go

2. Punishment-Employment

3. Relief-Repose

4. Rest-Continuation

5. Hiatus-Halt

Solution
The correct answer is option 4, i.e. Rest-Continuation.

Concept/Grammar

rules
Application
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The query is about

finding the appropriate

synonym which

represents a word or

phrase that means

exactly or nearly the

same as another word

or phrase in the same

language and antonym

which represents a

word opposite to the

given word "Respite".

Option 4, i.e. "Rest-

Continuation" seems to

be the appropriate pair

of synonym and

antonym of the given

word.

The word

"Respite" means a

short period of rest

or relief from

something difficult or

unpleasant. The pair

given in option

4 seems to be

representing the pair

of synonym-

antonym. The given

word "Rest" seems

to be a synonym as

it means to cease

work or movement

in order to relax,

sleep or recover

strength. The other

given word

"Continuation"

seems to be its

antonym as it

means the action of

carrying something

on overtime or the

state of being

carried on. 

Further, the

remaining pairs are

representing either a

pair of synonyms or

antonyms to the

given word.

Hence, the correct

option is 4.
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